KE
Math 1160 — Summer 2016 Name: Y

Bonus Worksheet — §8.1, 8.2, 8.3

Complete the following worksheet for up to 5 bonus points. Write your answer in the provided spaces.

1. Find the inverse function f~!. State the domain and range of f~! using interval or set notation.

fl@)=cos(2z+1)-1, -2<z<7-2
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2. Find the exact values of the following:

(a) csc(tan™' 1)
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(b) cot [cos™ ()] |
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N
f ‘ Solution: \f27




3. Write the following as an algebraic expression in §:

cos (csc‘1 6)
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4. Find the general solution of the following:

3sin(3z) —2=1

Sin(3x)= 4
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Solution:

5. Solve the following on the interval [0, 27):

2sin’0 —5sinf+3=0

Rt %= Sm*G. Thun WL eqpahon decomes-
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Solution: x; 2—-




